W RE OIS

£l | BT RE I piubls B8 |AH BEDE IR PR KE RE

A28 |D701000001 |=IRE |Hrdbm = RkE = IRE EAEE385% 1 106 —kDE —BOREPT[121.36965  [24.93374
A8 |D701000002 |=IRE |#rdb = IRlE = R E #4058 1 52 =k E —BOREFT|121.369698  [24.933652
28 |D701000003 |=®kE |#ribih= k& =IREE#EE1095% 1 62 —kDE —BOREPT[121.369121  |24.932478
A2 |D701000005 |kEEEE |#rdbh =kl K EEEE B RE66775% 1 107 =k E —RRFT|121.366384 |24.935816
28 |D701000006 |KEEE |Hrdbmh = RE KEEEERT725% 1 42 —kDE —BOREPT[121.372155  |24.936231
A8 |D701000007 |xEeEE |#rdbmh = Rl& KEEE BB 74785% 1 64 =k E —BOREFT|121.371796  |24.936477
A2 |D701000008 |’kxEEE |#rdbmh = IRE& K EEE B 2125% 1 138 —kDE —BOREPT[121.368616  |24.936071
A2 |D701000009 |kxgeE |#rdbmh = RlE KEEE A EH10715% 1 354 =k —BREFT|121.373804  [24.9353
A2 |D701000010 |’kgEE |#rdbmh=RE KEEEREE2295% 1 366 —kDE —BOREPT[121.371177  |24.934734
A |D701000011 |kEEER |#rdbih=Rl& KEEE BZE65R 1 478 =k E —BREFT|121.37069  |24.934527
A2 |D701000012 |kEEEE |#rdbmh = IRl& K EE B ERE595% 1 1381  |=kDS —BOREPT[121.372278  |24.935912
A2 |D701000013 |kEEEE |#rdbmh = IRl& KEEEE P LB 28345% 1 324 =k E —BREFT|121.369094  |24.934147
A2 |D701000015 |keEE |#rdbmh = IRE KEEEERET715] 1 262 —kDE —BOREPT|[121.37182  |24.936032
A2 |D701000016 |kEEEE |#rdbh = RE KEEE X (ERE93 5% 1 423 =k E —BOREPT(121.371214  |24.936069
A2 |D701000017 |kEEEE |#rdbmh = IRE KEEE B8R 1 481 —kDE —BOREPT[121.373391  |24.935652
A2 |D701000018 |kEEEE |#rdbih = WRl& K EE AN F 23 5% 1 20 =k —BREFT|121.370278  |24.935191
A2 |D701000019 |’kgEE |#rdbh = IRE& KEEE T F 1726551 1 73 —kDE —BOREPT[121.370289  124.936747




A2 |D701000020 |kEEEE |#rdbh = IRl K EE B AN FE167735% 1 138 =k —WBREFT|121.369829  [24.936419
A2 |D701000021 |kEEEE |#rdbh = IRlE K EEE AN FE315% 1 179 —kDE —BOREPT[121.370269  |24.935406
A2 |D701000022 kg2 |#rdbmh = Rl& KEEE EEEH14165% 1 138 =k E —BREFT|121.368823  [24.931905
A2 |D701000023 |kEEE |#rdbm = kl&E K EEE X(EHE65E85% 1 481 —kDE —BOREPT[121.372009  |24.935736
A2 |D701000024 |[BLE |#ith=REE LIEAERE3I45% 1 67 =k E —RRLFT|121.366986  [24.937285
At |D701000025 [BEWE |#itmh=REELLIEKXEE385% 1 67 —kDE —BOREPT[121.367014  |24.937142
At |D701000026 |BLIE |#ibh=REE LEAR{CEE25E 1 1001 =k E —BREFT|121.36683  |24.937719
A2 |D701000027 |BLIE |Fribm=kEE LB A #30325% 1 237 —kDE —BOREPT[121.365865 |24.937764
A |D701000028 |[BIE |#rith=R&ELIERLEE277EF13275% |1 632 =k —BREFT|121.361833  [24.936613
A1 |D701000029 |BIE |Hribh=REE LB FIEE257E235% 1 811 —kDE —BOREPT[121.362483  |24.936334
A |D701000030 |[BE |#ith=R&ELIEHLEE219EF1357589(1 381 =k E —RREFT|121.363505 [24.936231
A2 |D701000031 |[BIE |Fith=REELIEHE21989115% |1 131 —kDE —BOREPT[121.36262  |24.936215
At |D701000032 |[BE |#ibh=IREE L2 FLLEE2335% 1 77 =k E — R HPT[121.362827  |24.937088
A1 |D701000033 |[BIE |Fith=REELIEFLEE1715] 1 1339 —kDE —BOREPT[121.364166 |24.936461
At |D701000034 |[BLE |Fith=REELEPLLEE1285513 1 120 =k E —BREFT|121.366004  [24.936212
A1 |D701000035 |BUE |Fibh=REELIEFLEE12758 2 491 —kDE —BOREPT[121.365361  |24.935926
A2 |D701000036 |J\GRE |#rdbih= k& ) \5EE5KE3685% 1 144 =k —BREFT|121.369815 [24.93142
A2 |D701000037 |J\GRE |#rdbmh = k& ) \sRE S KE4315% 1 61 —kDE — R EPT[121.368545  |24.92578




A2 |D701000038 |FHE |#rdbh = Ikl& PiFE KRG EE2705% 1996 |=k7D/H —REFT|121.365128  |24.925627
A2 |D701000039 |F3HE |Hrdbh = IRk& FimE RG] 27 258 420 —kDE —BOREPT[121.365326  |24.925368
A2 |D701000040 |FHE |#rdbih = Ikl& PiHE KRG EE2875% 201 =k E —BREFT|121.365421  |24.925067
A2 |D701000041 |F3E |Hrdbmh = k& FimE RGBS 2875% 201 —kDE —BOREPT[121.365421  |24.925067
A2 |D701000042 |FEE |#rdbmh = IRl& PIHEAE 2408 15 1194 |=k5D /5 —BRREFT|121.365896  [24.925785
A2 |D701000043 |FHE |Hrdbmh = Ik& FiEE H EE 64572 803 —kDE —BOREPT[121.367895 |24.925557
A2 |D701000044 |F#HE |#rdbih = k& PiHE R EEE240E45565% 1717 =k E —REFT|121.365363  |24.926297
A2 |D701000045 |FHE |Frdbmh = IRE s E hEE815% 138 —kDE —BOREPT[121.367993  |24.925105
A2 |D701000047 |FEHE |#ibh=REEHEREE215% 484 =k —BREFT|121.376148  [24.936535
A2 |D701000048 |FERE |Frdbmh = IREFEHE REE299% 2368 —kDE —BOREPT[121.375811  |24.936345
A2 |D701000049 |FEHE |#rdbmh = IRlE BEIH E B Y6 E125 2 275 128 =k E —BOREFT|121.37136  [24.93967
A2 |D701000050 |FEsRE |#rdbmh = IRlE BE R B B Y6 %133 2 355% 813 —kDE —BOREPT[121.370983  |24.939977
A2 |D701000051 |BEIHEE |#rdbh = IRl& BEIH B B Y6153 2 615K 772 =k E —BRREFT|121.374455 [24.938184
28 |D701000052 |FERE |Hrdbmh = IRE BER B B Y6 H169 2 7155% 55 —kDE —BOREPT[121.373933  |24.937607
A+ |D701000053 |FEHE |#rdbih=IR&EEHERYEEH18E81225% 966 =k E —WREFT|121.375652  |24.937319
A2 |D701000054 |FERE |Frdbmh=REFEHE R H 1282105 386 —kDE —BOREPT[121.376052  |24.937265
A2 |D701000055 |FEHE |#rdbih = IR& FEIH 2 615248 1345% 698 =k —BOREFT|121.371331  |24.940287
A2 [D701000056 |FElRE |Hrdbmh = IREAER E R Y6 E181 5 135% 515 —kDE —BOREPT[121.373562  124.938007




A2 |D701000057 |FEHE |#rdbih=IR&FEIH EE S 385% 1774 |=RH/E —BRREFT|121.373826  [24.936874
A2 |D701000058 |[MEE |Fith=RENTFEKLEH135R 136 —kDE —BOREPT[121.377548  |24.930073
A2 |D701000059 |[MEE |Fith=k&NFEXxLHIE3IE23 491 =k E —BOREPT([121.377211  |24.929741
A2 |D701000060 |[MEE |Fitmh =& T FE KL EHIB35%89 135 —kDE —BOREPT[121.377762  |24.929789
At |D701000061 |[MEE |#Fith=IRE N FEKLZEHIB65E 80 =k E —BOREFT|121.37736  [24.929822
A2 |D701000062 |[MEE |Fitmh=IRkE T FEKLE21355% 147 —kDE —BOREPT[121.374406  |24.928534
A |D701000063 |[MEE |Fith=kENTFEXLEHIE36385% 118 =k E —BOREPT[121.377112  |24.929666
A2 |D701000064 |[MEE |Fith=RE T SEKLZE37R 103 —kDE —BOREPT[121.376556  |24.930346
At |D701000065 |[MEE |#ritth=kiE N EE KL EHIB405% 65 =k — R EFT|121.376377  [24.929884
A2 |D701000066 |MTEE |Fibh=RE T FEKLE465% 306 —kDE —BOREPT[121.37674  |24.930568
At |D701000067 |[MEE |Fith=RENTFEXKLEHS15E 40 =k E —REFT|121.376068  |24.929976
A2 |D701000068 |[MEE it =IkE T EEKLES53555% 95 —kDE —BOREPT[121.374686  |24.928402
A2 |D701000069 |[MEE |#Fith=IRE N FEKLES57635% 92 =k E —BOREPT[121.374743  |24.928446
A1 |D701000070 |[MEE |Fith=RE T SEKLZES95E 135 —kDE —BOREPT[121.375866 |24.929836
At |D701000071 |[MEE |Fith=RENFEXLEH7395 120 =k E —WBREFT|121.37555  |24.929598
A2 |D701000072 |[MEE |Fitmh=IkE T FE KL 76805 71 —kDE —BOREPT[121.375696  |24.929144
At |D701000073 |[MEE |Fith=RENFEXLEH7I% 77 =k —BOREFT|121.375341  |24.929448
A2 |[D701000074 |[MEE |Fith=RE N SEKLEI25R 76 —kDE —BOREPT[121.37551  124.929803




At  |D701000075 Mt =R@ T SEKLH8HR 23 =k — R EPT(121.377844  |24.930131
A#  |D701000076 Wit =IRE T EE KL H 10258 56 —kDE —BOREPT[121.375281  [24.929633
A  |D701000077 it =IRE T EESCAREA47 5% 179 =k E — R EPT|[121.375179  |24.929243
A#  |D701000080 Wit = IRE T FEE A9 7115 116 —kDE —BOREPT[121.377299  |24.929415
A  |D701000081 it = IRE TS EEARE69E185% 684 =k E — R EFT|121.3763 24.928857
A#  |D701000082 Wit =IKE T B AR 698 255% 119 —kDE —BOREPT[121.376484  |24.929241
A+ |D701000083 it = IRE T ZEEARE69E275% 214 =k E —BOREPT[121.376917  |24.929476
A |D701000084 Wit =IKE T S EJCARRE69E335% 106 —kDE —BOREPT[121.377049  |24.929435
At  |D701000085 b= IRE TR EJEARE69E375%1 67 =k —BOREPT[121.377299  [24.929415
A#  |D701000086 Wit =IKE T SEAE K225 72 —kDE —BOREPT[121.377796  |24.929506
A  |D701000087 it =IRE T EEARE 1243458 145 =k E —BOREFT|121.36687  [24.926035
A#  |D701000088 Wit =IKE T SEAE K645 162 —kDE —BOREPT[121.376646 |24.928381
At  |D701000089 Wit =IRE T EEARE K545 67 =k E —WRREFT|121.365895  |24.925397
A#  |D701000115 M= REEZENSE1IR3115265% 5 —kDE —BOREPT[121.38133  |24.931441
At |D701000118 M= REEEZENSE1R3118295% 6 =k E —BROREFT|121.381124  |24.931522
A#  |D701000122 b = IR M EZ B P EE 65 652 —kDE —BOREPT[121.371704  |24.930011
A+ |D701000123 Mt =RE L ZEPERI355R 1790 =k —BOREPT|[121.37118  [24.927602
A#  |D701000124 Wb = IR Z B P EE 2455 660 —kDE —BOREPT[121.374019  |24.932527




D701000125 it IREEZE P EEIIE1R 504 =k —BOREPT[121.374142  |24.932233
D701000126 it = IREEZE RRT425% 1104 —kDE —BOREPT[121.378256  |24.932363
D701000129 Hith= @ EERFE6R 454 =k E — R EFT|[121.376181  |24.933572
D701000130 it = IREEZE R 2R H41538405% 2162 —kDE —BOREPT[121.376992  |24.932318
D701000131 Mt =@ EERFE41539-435% 466 =k E —BOREHFT|[121.377781  [24.93197

D701000132 Wit = IREEZERREH78E165% 1155 —kDE —BOREPT[121.376758  |24.933667
D701000133 M= REEEZERFH78E1IF1IR 740 =k E — R EPT|[121.37655  |24.933365
D701000134 it = IREEZERRH5E2105% 7 —kDE —BOREPT[121.378303  |24.931407
D701000136 M= REEEE L Z 30981358 901 =k —BOREPT|{121.37371  |24.933154
D701000137 it = IKEEZERRH41E531-335% 171 —kDE —BOREPT[121.377781  [24.93197

D701000138 Wit = IREZ ZE P IFE1ER2105% 62 =k E —BOREPT[121.372214  |24.927879
D701000139 Wit = KR 2 Z B P IE R 1E2405% 2206 —kDE —BOREPT[121.341442  |24.902662
D701000140 it = IREZ ZEPIEE1ER174E25% 86 =k E —BOREPT[121.372569  |24.928654
D701000141 Wit = IRE L ZE P ERA25% 1317 —kDE —BOREPT[121.372221  |24.931222
D701000142 Wit = IR ZE P EEEA25 1317 =k E —BOREPT[121.372221  |24.931222
D701000143 b = ke 2 B P ERE465%4 1522 —kDE —BOREPT[121.371563  |24.930395
D701000144 Mt =@ ZE PERCITR 3275 =k —BOREPT(121.372113  |24.930159
D701000145 Wit = IREEZE P EREILR 1486 —kDE —BOREPT|[121.372937  |24.931212




At |D701000146 |FIEE |#rdbih= k& P IEE ARG EE1095% 1 62 =k — R EPT|[121.374465 |24.926852
A1 |D701000149 |BIE |Fribh=REE LI EEHEE2805% 1 902 —kDE —BOREPT|[121.365185 [24.93918
A |D701000150 |BE |#ibh=IR&E LIS EREE3375% 1 486 =k E —BRREFT|121.364363  [24.938624
A2 |D701000151 |BLIE |Frith=REE LIEERE367E25% 2 833 —kDE —BOREPT[121.363456  |24.938312
A |D701000152 |[BE |#ith=RE&E LIEERE367E1F135% |1 66 =k E —BREFT|121.364011  |24.938147
A2 |D701000153 |BIE |[Fith=RE&E IEEmME367E15F145% |1 208 —kDE —BOREPT[121.364145 |24.937643
At |D701000154 |[BWLE |#ith=REELIEAEE145% 1 263 =k E —BREFT|121.366913  |24.938237
28  |D701000155 |BLIE |Fritm=kKEE LB X{CHE34E35% 1 13 —kDE —BOREPT[121.366019  |24.937862
A8 |D701000156 |ELLE |#rith=IREELLEAR{CE66E LR 1 69 =k —BREFT|121.364848  [24.937475
28 |D701000157 |[BLLE |Fritm=kEE LB X{CE66E85% 1 22 —kDE —BOREPT[121.364889  |24.937827
A8 |D701000158 |kEEE |#rdbh= k& KEEEEREI10E3F25% |1 359 =k E — WP |121.372986  |24.938557
A2 |D701000159 |’kgEE |#rdbh = IRE& KEEE TN F 1738158 1 98 —kDE —BOREPT[121.370284  |24.937303
A2 |D701000160 |kEEE |#rdbh=IRE KEEMFEHI6E7FH2% |1 1057 =k E —WRREFT|121.370894  |24.937227
A2 |D701000161 |’kEEE |#rdbmh=IRE KEEEIERE1585% 1 250 —kDE —BOREPT|[121.370139  [24.936232
A+ |D701000162 |kEEEE |#rdbih=Rl& KEEE(ERE120E575% 1 498 =k E —BREFT|121.37089  |24.936809
A2 |D701000163 |’kEEE |#rdbmh=RE KEEEERE120E 715 1 498 —kDE —BOREPT[121.370826  |24.936566
A1 |D701000164 |kEEE |#rdbih=R& KEEEXERE120E195% 1 498 =k —BREFT|121.370932  [24.93676
A2 |D701000165 |’kEEE |Hrdbmh=IRE KEEEE 157 2 463 —kDE —BOREPT[121.372262  |24.937597




A2 |D701000166 |KEEEE |#rdbh = IRl& K EE AN FE655% 3 1174 =k — R EPT(121.370115 |24.936598
A1 |D701000167 |BIE |Fibh=REE LB FUIEE152E55%2 1 57 —kDE —BOREPT[121.364985  |24.936644
it =—IEENEFE18451275186
At  |D701000168 [BLLE |5 2 1190 =k E —BRREFT|121.363752  [24.93714
At |D701000169 |[FIEE |Frdth=IREPIEEPIFFEIT15R 2 720 —kDE —BOREPT[121.37292  |24.928271
A |D701000170 |BE |#ibh=IR&E LIEEHEE4575E 1 1409 =k E — R EPT[121.362166 |24.938396
At  |D701000171 [FEsHE |Fritm=REEHEREH1IE15:39 1 232 —kDE —BOREPT[121.377248  124.935641
wmiEm —REEBEREH 195 /773848
A  |D701000172 |BEIHE |5% 1 421 =k E —BROREPT(121.377231  |24.935327
A2 |D701000173 |ZRE it = IR&E LR E hEREA3E125 1 1058 —kDE —BOREPT[121.372955  |24.930572
it =—REeZ X EP IR 1745473040
A |D701000174 |Z 22 |57 1 377 =k —BOREPT(121.373027  |24.929298
A2 |D701000175 |ZEE |[Fibh= k&L ZEHIERE1RI08EF305% |1 77 —kDE —BOREPT[121.373318  |24.930577
A2 |D701000176 |ZEE |#ibh=R&ZZEPIERE1RI08FR |1 1965 =k E —BOREPT[121.373491  |24.929969
A2 |D701000177 |ZRE it =IRE LR E FIEE1ER2765% 1 993 —kDE —BOREPT[121.371543  |24.926417
A2 |D701000178 |ZEE |#rdbmh =kl 2= B JEARRE18325% 1 128 =k E — R EFT|121.375807  [24.92714
At  |D701000181 |HIEE |#rdtmh=k& P IEE K[EE88E2 2 1422 —kDE —BOREPT[121.375618  |24.928148
A2 |D701000182 |FIEE |#rdb =kl P IEESCARRE865E 1 59 =k E — R EPT[121.375461  |24.928657
A2 |D701000183 |FIEE |Fribm=kiE PIEE AREEESESFHF25 |2 120 —kDE —BOREPT[121.375017  |24.928169
A2 |D701000184 |FIEE |#rdbh = kl& P 1IEE JEARRE88905% 1 464 =k —BOREPT|[121.37434  |24.929874
At  |D701000185 |HIEE |#rdbmh=kE&E PIEEKLZEHISEINR 1 304 —kDE —BOREPT[121.37489  |24.928753




D701000186 |FIEE [#dtmh=IREPIEE KL HE1845% 67 =k —WRREFT|121.373383  |24.928097
D701000187 |J\3RE [#ith=IKE/\REREKH24265% 527 —kDE —BOREPT[121.368977  |24.929043
D701000188 |J\3RE [#dtmh=IkE/\REEKH13615% 94 =k E —BOREFT|121.369312  [24.9285
D701000189 |J\3RE [#ridtih=IKE/\REREKH78E335R 231 —kDE —BOREPT[121.368549  24.929432
D701000190 |J\5RE |#ritih=lk& ) GREREKE78E25295% 155 =k E —BROREPT({121.368292  |24.930306
D701000191 |J\3RE |[#rdtmh=IRE/\sREFEHE6215 747 —kDE —BOREPT[121.366912  |24.921235
D701000192 |)\3RE [t =IKE/\REEKF185% 80 =k E —BREFT|121.369008  [24.931041
D701000193 |FEHE iﬁiggi%g%%i%%%ﬁjﬁég@w 180 —kDE —BOREPT[121.382648  |24.942444
D701000194 |2 %i?gﬁ:mﬁu%%u%ﬁ%lﬁﬁﬂb%loz 1112 =k —BOREPT[121.379246  |24.927627
D701000195 |18 ffrrisf'zﬁ%)ﬁ:bmﬁu%Eu%tﬁlﬁiﬂS%ZZZ 131 —kDE —BOREPT[121.379044  124.928406
D701000196 |/T=E %ﬁj{:ﬂi:@@u%%u%-rﬁlﬁﬁswﬁlls 343 =k E —BRRHPT[121.381025 |24.929089
D701000197 |TEE iﬁibFﬁ:WEJI%EH%ﬁ15§276%108 439 —kDE —BOREPT[121.38105  |24.929627
D701000198 |/T=E %iggﬁ:mﬁu%%u%E§1F§318%1521 184 =k E —BREFT|121.379359  [24.927784
D701000199 |TEE |5% 223 —kDE —BOREPT[121.382772  |24.929419
D701000200 |/TRE |Fiitmh=RENEENSIE1E32035% 172 =k E —WBREFT|121.38099  [24.930121
D701000201 |MEE |Fith=RENSENFE1ER388E1HR 58 —kDE —BOREPT[121.383516  |24.930481
28 |D701000202 |[MEE |Fith=RENFENFE1ER4105% 7 =k —BOREPT({121.38402  |24.930897
~8  |D701000203 |[MEE |FHith=RENSENEE1ER4145% 3 —kDE —BOREPT[121.384152  124.930961




TmIEm —RENTSEN =k 1R4208212

At  |D701000204 [TEE |5k 1 769 =k — R HPT[121.384594  |24.930675
A2 |D701000205 |[MEE |Fith=RE N SECRE75E165% 1 193 —kDE —BOREPT[121.377515  |24.927982
A2 |D701000206 |[MEE |Fith=IRE N FECARE75E205% 1 136 =k E — R EPT(121.377562  |24.928138
A2 |D701000207 |[MEE |Fith=RE T SECRE75E335% 1 77 —kDE —BOREPT[121.377736  |24.928479
A2 |D701000208 |[MEE |Fith=RE N FECARE75E345% 1 198 =k E —BOREPT[121.377927  |24.928461
A2 |D701000209 |[MEE |Fith=RENSEICHE75826325% |1 167 —kDE —BOREPT[121.377666 |24.928041
At |D701000210 |[NEE |Fith=kENTFEAREELR 1 2754 =k E —BROREPT({121.37852  |24.929829
At |D701000211 [MEBE |Fitm=k& T EEKXEFE1HRS 1 138 —kDE —BOREPT[121.378118  |24.929521
At |D701000212 |[WEE |#Fith=IRE T EEAE 3K 1 197 =k —BOREPT[121.376029  |24.927549
A2 |D701000213 |[MEE |Fitm=kE T SEAEK21235% 1 936 —kDE —BOREPT[121.367453  |24.926529
At |D701000214 |[NEE |Fith=RE T FEAE 29315 1 117 =k E —BOREFT[121.364481  [24.92437
At |[D701000215 [MEBE |#itm=RENTEEKEESE25 1 455 —kDE —BOREPT[121.377812  [24.92876
At |D701000216 |[MEE |Fith=IRE T FEAEESESSE 1 81 =k E —BOREPT(121.37804  |24.928578
A1E  |D701000217 |[MEE |FHith=RENTSEARKESE115K1 1 161 —kDE —BOREPT[121.378151  |24.928908
At |D701000218 |[MEE |#Fitmh=lkE T FEAE 404255 1 90 =k E —REFT|121.366091  |24.925979
~8  |D701000219 |[MEE |FHith=RENTSEARKEIIELHRL 1 26 —kDE —BOREPT[121.377375  |24.92853
At |D701000220 |[NEE |Fith=kENTFSEAERK3I9E205F105% |1 116 =k —REFT|121.376693  |24.927659
A2 |D701000221 |[MEE |Hith=RENSEAERK3I9E22F 1% |1 100 —kDE —BOREPT[121.377129  |24.927532




At |D701000222 |[NEE |FHith=RENSEAERK3I9E22F1L%E |1 411 =k —BOREPT[121.377129  |24.927532
28 |D701000223 |[MEE |Fitm=KE T SEAEESE315H 1 72 —kDE —BOREPT[121.378626  |24.928012
A2 |D701000224 |[WEE it =RE N EEAREESES45% 1 554 =k E —BRRHPT(121.378345  |24.927809
A2 |D701000225 |[MEE Fith=IRE T FZECARE75E225% 1 302 —kDE —BOREPT[121.377676  |24.928225
it —REERE — WK 2228215718
A |D701000226 |HEIHE |5% 1 427 =k E — R EPT[121.390284  |24.944958
A8 |D701000229 [MEBE |#itm=RETEEKEESEIR 1 62 —kDE —BOREPT|[121.37801  |24.928835
A2 |D701000230 |JGRE |#rdbih=kl&E ) GREEKEEH2889752225% |1 1106 =k E —BOREPT|[121.368741  |24.931064
A2 |D701000231 | B |[Fibh=RE L ZEHIERE1R11015% 1 210 —kDE —BOREPT[121.372818  |24.927824
A2 |D701000232 |ZEE it =R& LR EPEREL4ET7FH2135% |1 947 =k —BOREPT|[121.371612  |24.930833
A2 |D701000233 |BLLE |Fritm=kEE LB X{CES50E95% 1 77 —kDE —BOREPT[121.365189  |24.93793
A1 |D701000234 |#EE |#ribih=R&EEZERREHE19215% 1 104 =k E —BOREPT|[121.378291  |24.931614
At |D701000235 [#EEE |#rdbmh=IR& HEZ B SRR 235% 1 747 —kDE —BOREPT[121.373348  |24.931167
A8 |D701000236 |#EEE |#ribh=REEZENTFE1R311EFLSR |1 4 =k E —BOREFT|[121.38114  [24.931062
Mt —IRe&ZZEP R —KRZ16825F
A  |D701000237 |ZEE |75% 1 173 —kDE —BOREPT[121.371843  |24.928142
A2 |D701000238 |[MEE |Fith=IRE N FERE75E225% 1 302 =k E —BOREFPT[121.377676 |24.928225
At |D701000239 [ZZB |t =R& L ZEPERTSE2R 1 572 —kDE —BOREPT[121.371967  |24.929899
A2 |D701000240 |[MEE |[Fith=RENFEAREE3I9E125 1 238 =k — R EPT[121.363574  |24.924349
At |D701000241 |[NEE |[#itm=RETEEKRE K355 1 332 —kDE —BOREPT[121.376878  124.928048




At  |D701000242 Mt =R@ N BEKLHSH 289 =k — R EPT(121.377853  |24.929948
A#  |D701000243 it = IKE P IE B P IF R 1E2135% 302 —kDE —BOREPT[121.372339  |24.927396
TmIEm —RE T =EN SR 1KR2/65108
At  |D701000244 FA25% 532 =k E —BREFT|121.379003  [24.927829
A |D701000245 |f Wit = IRE S L EERE2295% 564 —kDE —BOREPT[121.366816  |24.938789
A2 |D701000246 |[MEE it =kE T EEAEE39EIR 1053 =k E —BOREPT[121.37725 |24.927684
A#  |D701000247 Wit =IRE P IEEARE 13758 868 —kDE —BOREPT[121.371668  |24.926869
At  |D701000248 Hdbh = R X BE BRI F 116655k 1971 =k E — R HPT[121.370481  |24.938008
it —R&ZEEF I FER—KRI08E/F
A#  |D701000249 955% 1425 —kDE —BOREPT[121.373512  |24.929638
A2 |D701000250 |[MEE |[Fith=RENTFEARE 1298 2065 =k —BOREPT|[121.378021  |24.929754
A#  |D701000251 b =K ) \sR B h EH65% 115 —kDE —BOREPT[121.368457  |24.927528
A  |D701000252 b = IRE P IEE KRE 13558 4517 =k E —BOREPT[121.372762  |24.926568
A |D701000254 Wit =IKEXEEREF665 98 —kDE —BOREPT[121.37477  |24.936158
At  |D701000255 it = R&@KEEENTFHE36E15%R 456 =k E — R EPT[121.370436  |24.937369
A#  |D701000256 b =KX EEEEFEE 157 330 —kDE —BOREPT(121.37444  |24.935502
A8 |D701000257 Wit = IREZ ZE P IEE1ER108E305% 77 =k E —BRRHPT(121.373318  |24.930577
A#  |D701000258 Wb = IRE M Z BRI 3E65R 64 —kDE —BOREPT[121.372773  |24.931989
A2 |D701000259 |ZEE |#rdbih = IR& 2R E PEEREISIE 1158 =k — R EPT[121.371708  |24.929269
A2 |D701000263 |KEEE |Hrdbmh = IRE KEEE 1 LLIEE825% 347 —kDE —BOREPT|[121.36687  |24.935314




A |D701000264 HAbh = RE@KEEE B 1255% 861 =k — R EFT|121.369925 [24.935984
A#  |D701000265 Wit =IKEEEREREH425% 879 —kDE —BOREPT[121.375374  |24.936463
At  |D701000266 Wit = RE oK EEEE B FE2385% 2702 =k E — R HPT[121.369074  |24.939058
At |D701000269 [/M1ERE |#itmh=R& T EEHREE715% 233 —kDE —BOREPT[121.376129  |24.928297
At  |D701000276 Hrdbmh = IR AEIR BB K 565% 297 =k E —BREFT|121.373534  [24.937154
A#  |D701000282 it = IkEXEEREH1065% 420 —kDE —BOREPT[121.37372  |24.935542
At |D701000283 M= REEEZENSE1IERLSR 429 =k E — R EPT[121.38402  |24.930897
A#  |D701000284 Wit = IREEZE N SRR 571 —kDE —BOREPT[121.383373  |24.930696
At  |D701000286 Hrdbmh = IR AEIf B B s 51438 65% 231 =k — R EPT(121.374362  |24.937589
A |D701000288 |% it =IKESWE P ILE3015E 4143 —kDE —BOREPT[121.361298  |24.937692
At |D701000293 it = IREEZE P EE3IE125E 1131 =k E — R EPT[121.372955  [24.930572
A#E  |D701000304 |% it =IRE S L EXEE210855% 157 —kDE —BOREPT[121.368241  |24.936487
A#  |D701000310 Hrdbmh = IR EEIH B B Y6 1153 5% 1429 =k E — R EPT[121.371847 |24.939311
A#  |D701000311 Wit = IREEZE P EE3E465E 705 —kDE —BOREPT[121.37243  |24.930248
A  |D701000314 |3 it =REE L EXERE2108 358 1140 =k E —BRLFT|121.368626  [24.936165
A#  |D701000316 Wit = IREEZE P ERE135R 1125 —kDE —BOREPT|[121.373913  [24.932113
A#  |D701000317 it = IREKEEERAEH1275% 57 =k — R EHFT|[121.373321  [24.93507

A#  |D701000320 Wit = IREEZERZRH575%2 359 —kDE —BOREPT[121.377067  |24.932728




A2 |D701000322 |kEEE |#rdbih = IRk& K EEESTIERE1355% 2 929 =k — R EHFT[121.369794  [24.93568
A2 |D701000324 |J\GRE |#rdbih= k& \sRE R##2355% 2 602 —kDE —BOREPT[121.368083  |24.927685
A2 |D701000332 |FEHE |Frdbh=REEHE = RFE22281335% |1 564 =k E —BREFT|121.386003  [24.943223
A2 |D701000335 |kEEE |Hrdbm = IRiE KEEEMFE36E7FH3M%2 |2 903 —kDE —BOREPT[121.370696  |24.937384
A2 |D701000336 |F/IE |#Fribh=R&F)I|EEZE255% 3 1026 =k E —BOREPT|[121.371171  |24.934274
A1 |D701000340 |BIE |Fibh=REE LIEFLIEE1985% 2 475 —kDE —BOREPT[121.363512  |24.937049
At |D701000343 |[MEE |Fith=RENFENFE1ER2785 1 3452 =k E —BOREFT|121.379843  [24.929152
~8  |D701000344 |[NEE |Fith=kE T FEAEES05E 1 89 —kDE —BOREPT[121.37704  |24.928666
A2 |D701000346 |kEEE |#rdb=RE KEEE P LLIFE165E 2 672 =k —BOREFT|121.36965  [24.934533
A2 |D701000347 |’kgEE |#ribh= k& KEEREE1865E 2 1107 —kDE —BOREPT[121.370674  |24.934932
At |D701000350 |[BLIE |#Fith=IReELEERE367ELF175E |3 1715 =k E — R EPT[121.364252  |24.937933
At |D701000351 [#EEE |#rdbmh = IR&HEZ EERRE315% 2 351 —kDE —BOREPT[121.373598  24.930893
A2 |D701000354 |FHE |#rdbh = Ikl& PiFE R E R 20658 4 981 =k E —BOREFT|[121.367169  [24.926843
A2 |D701000355 |BLLE it =& S LB EmME367E1F415% |3 783 —kDE —BOREPT[121.364298  |24.937726
it —REEREREH19E /7106-1
At |D701000356 [FEIHE 5% 3 437 =k E —BREFT|121.376958  |24.935611
A2 |D701000357 |J\GRE |Frdbmh=kE ) \sREFEE135% 1 557 —kDE —BOREPT[121.367862  |24.924681
A2 |D701000358 |FEHE |Fith=—IREEREREHIIOB7FLE |2 829 =k —BREFT|121.376545  [24.935912
A2 |D701000359 |keEE |#rdbmh = kE KEEE A 152573 2 238 —kDE —BOREPT[121.372048 124.935188




A2 |D701000360 |J\GRE |#rdbm=kl& ) \sRE P EESR 1164 =k — R EFT|{121.3691 24.927822
A2 |D701000361 |FIEE |Hrdbm=RkE PIEE FIERE1ER3515% 1252 —kDE —BOREPT[121.371288  |24.923009
A2 |D701000362 |#EEE |#rdbmh = IR& = ER3R1E 3858 209 =k E —BROREPT[121.378423  |24.932316
wibmh = Re FIREREKRZ2Z2E125510
A#  |D701000363 |HIHE [5F 874 —kDE —BOREPT[121.365337  |24.926456
A2 |D701000364 |FEHE |#Frith=IREEREREEH1E65EL 1897 =k E —BOREPT[121.377252  |24.936443
A2 |D701000365 |FERE it = K& AR EREEH1I0ETFHF25% 949 —kDE —BOREPT|[121.37652  |24.935784
A2 |D701000366 |FEHE |#ritmh=IREEREREH1IE35817 283 =k E —BOREFT[121.377996  |24.936552
mIEm—RENTSE T &is1kZ2/65102
A |D701000367 |[MEE [FL15E 168 —kDE —BOREPT[121.378957  |24.928035
A2 |D701000368 |FEHE it =IREEHEREH1IES-1195% 3306 =k — R HPT[121.377845 |24.935853
A2 |D701000369 |FHE |Hrdbmh = IRkE FimE AR 240585 518 —kDE —BOREPT[121.365346  |24.926386
A2 |D701000370 |kEEEE |#rdbi=IRE KEEE P LLIFE165E 6173 =k E —BOREFT|121.36965  [24.934533
At |D701000371 |FHE |#rdbh=R& Il EKE 2295 1514 —kDE —BOREPT[121.36723  |24.926514
A |D701000372 |[BWE |#ith=R&E 2 ERE367E15F185% 70 =k E —BREFT|121.364235 [24.937494
At |D701000373 [#EEE |#itmh=IREEZERFEH235% 745 —kDE —BOREPT[121.378743  |24.931432
A2 |D701000374 |JGRE |#rdbi=kl& )/ \sREEEH1705E485%2 972 =k E —BOREFT[121.367296  |24.929745
A2 |D701000375 |FERE |Frith=IREFEREREH1IE 19855 638 —kDE — R EPT|[121.378088  |24.935093
A2 |D701000376 |FEHE |Frith=IREEHEREH1IE3E12 397 =k — R EHFT[121.377554  [24.93607
A2 |D701000377 |[MEE |Fitmh =& T EEAEESE465% 120 —kDE —BOREPT[121.378451  |24.928053




A+ |D701000378 |[BE |#ith=REELIEFLLEI06E365% 786 =k —RREFT|121.366357  |24.937061
A2 |D701000379 |FERE |[Fritmh=IREmEREREH1E3-165% 97 —kDE —BOREPT[121.377873  |24.935976
A2 |D701000380 |Fi#HE |#rdbh = IRl& PiiEShAEE 2858 647 =k E —BREFT|121.366282  [24.927272
A2 |D701000381 |FE |Hrdbmh = IRkE FimEshE #4358 201 —kDE —BOREPT[121.366834  124.927439
At |D701000382 |[MEE |Fith=RE N FEEE75E105% 152 =k E —WBREFT|121.377361  |24.927899
A2 |D701000383 |FEHE |Hrdbh = k(& Bt B 7 5005% 254 —kDE — R EPT[121.370588  124.938886
A2 |D701000384 |FEIHE |#rdbh = Ikl& FEIH B S 10058 3130 =k E —BRRHPT(121.372987  |24.939198
A2 |D701000385 |FHE |Hrdbh = IRk& FimE KGR 28757 587 —kDE —BOREPT[121.365421  |24.925067
A2 |D701000386 |FEHE |#rdbih=IREEHEREH1ES-1005% 575 =k —WBREFT|121.378459 |24.936016
A2 |D701000387 |FIEE |Hrdbmh = RkE f1E B A G EE455% 131 —kDE —BOREPT|[121.376171  |24.927795
A2 |D701000388 |FEHE |#rith=IREFEREREH1IE1-595% 883 =k E —BREPT(121.377577  |24.936706
A2 |D701000389 |’kEEE |Hrdbmh=RE KEEEER210E125% 3566 |=WRD[S —BOREPT|[121.369211  [24.937032
A2 |D701000390 |#EZEE |#rdbih = IR iEZE R 685% 833 =k E — R EPT[121.377614  |24.932826
A2 |D701000391 |J\GRE |#rdbmh=kE/\sREREHL70E195% 227 —kDE —BOREPT[121.367085  |24.929494
A2 |D701000392 |#EREE |#rdbih = IR& #EZE PEERE385%2 544 =k E —BOREFT|121.373132  [24.931753
A2 |D701000393 |ZEE |Hribih = IR&E LR E AR 3952855 222 —kDE —BOREPT[121.377328  |24.927375
At |D701000394 |[ELWLE |#ritmh=IREELLEAREESHE3 347 =k —RREFT|121.360569 |24.937918
A2 |D701000395 |FHE |Hrdbh = k& Fim B RG] 2205% 312 —kDE —BOREPT|[121.366772  |24.926374




A2 |D701000396 |FIEE |#rdb= k& P IEE ARG EE45-15% 3 94 =k —BREFT|121.365466  [24.926453
A2 |D701000397 |FIEE |Fribmh=IRE P IEE AR ES7EL7H 3 921 —kDE —BOREPT[121.376871  |24.922069
At |D701000399 |BWE |#ibh=IREE L2 HLLEE2585F 2 1397 =k E —BRREFT|121.361755 [24.93778
At  |D701000400 |FIHE |#rdbmh=Rkl& S iHEsAEE36E 1858 1 133 —kDE —BOREPT[121.365878  |24.927525
A2 |D701000401 |#ZEE |#rdbh=IR& i ZEEE 16058 2 658 =k E —BOREFT|[121.374699  |24.931505
A2 |D701000402 |FERE |[Fritmh=REEREREH1IE1-675% 1 1394 —kDE —BOREPT[121.376599  |24.937041
A2 |D701000403 |F#EE |#rdbh = IRl PiiEshAEE485% 1 375 =k E —BRREFT|121.366164 [24.92739
At |D701000404 |HiHE |#rdbmh=Rk& Il E KE 2365k 1 258 —kDE —BOREPT[121.366278  124.926009
A2 |D701000405 |[MEE |#Fith=kE N FE285KEHE39E585 |2 818 =k —BOREPT[121.377441  |24.927599
A |D701000406 |#E=EE %ﬁiEFEEHJ%%E%E‘%EZ?%Bﬁ%E%lE&ZGI%Z 1 2250 —kDE —BOREPT[121.379696  |24.930638
At  |D701000408 |HiHE gj = o " 1 323 =k E —BREFT|121.36587  [24.92484
At |D701000409 [FEsHE |#rdbrh = IRl& BE R B =ik 3305% 1 186 —kDE —BOREPT[121.381797  |24.94417092
FiEm =—IRE KB E P LR ZR6845 145
At |D702000002 [KIHE |1225% 1 1983 =k E SR EFT|121.358779  |24.906178
At [D702000005 [AIHE |#rdbm=RlE KX IHE PIERE2ER3995% 1 190 —kDE SRR EPT[121.36391  |24.906933
A2 |D702000006 |[KIHE |#rdb = bklE AIEE R 205 25% 3 1951 =k E SR EPT[121.356726  |24.909891
A2 |D702000007 |[AHHE |Frdbh=REAXHE_EE13681275% |1 3275 —kDE SRR EPT[121.356135 [24.910665
A2 |D702000008 |AHHE |#rdbi=RlE AIHE _EEE136569755% |1 2754 =k SR EPT[121.359112  [24.908532
A1E  |D702000009 |[AHHE |Frdbm=klE AR E _ME136571735% |3 794 —kDE SRR EPT[121.356972  124.910741




A2 |D702000015 |w=AE |Fribh=R&Ez=AEBZARE685527 1 411 =k SR EFT|121.392201  [24.90924
A2 |D702000016 |=AE it =IRE=RNE=NE1815%2 1 521 —kDE SRR EPT[121.404589  |24.898132
A2 |D702000017 |w=AE |#rdbih=RlE = A E 52685532 1 339 =k E SR EFT|121.389956  [24.908673
A2 |D702000018 |w=AE |Fribh=RE=ANEHRE685E31 1 117 —kDE SRR EPT[121.392288  124.909207
A2 |D702000019 |w=AE |#rdbmh = klE = A E B 2685535 1 428 =k E SR EFT|[121.391665 |24.909686
A2 |D702000020 |=AE |Fribh=RE=AE R AEE237581 1 34 —kDE SRR EPT[121.36903 [24.91194
A [D702000021 | AHEE |#rdb = IRl& KIEE P IERE2E23995% 7 1 932 =k E SIEKEFT|121.36391  [24.906933
A2 |D702000022 |AEE |Fibh=IRE RN EERNEET75R 1 1169 —kDE SIEKEPT[121.371172  124.908086
A2 |D702000023 |“EEE |#rdbmh =kl 2 R ES0E35% 1 17 =k SIEIKEFT|121.361719  [24.910564
A2 |D702000024 | AR |Hrdbmh = IRE A E IR 2E221855% 1 1443 —kDE SRR EPT[121.365778  |24.913895
A2 |D702000025 | KIEE |#rdb = IRl& AIHE P IERE2E23995% 1 518 =k E SIEKEFT|121.36391  [24.906933
A2 |D702000026 |AHE | Hrdb = IklE A B AR EE 22057 1 1724 —kDE SIRKEPT[121.372898  124.892527
A2 |D702000027 | KHEE |#rdbih= k& XIHE P EE1265510 1 2340 =k E SR EFT|121.366837  [24.921552
A2 |D702000028 |AEE it = RE R EE R EES15E 1 609 —kDE SIEKEPT[121.377416  |24.905998
A2 |D702000029 |AEE |Frdbh= k& A EE R EEE1359521 1 291 =k E SR EFT|121.375681  |24.899426
A2 |D702000030 |AHE | Hrdbh = IklE Am B KIEEE 13058 1 819 —kDE SRR EPT[121.366464  |24.905743
A2 |D702000032 | KR |#rdbh=IRE AIEEPIEE 372581 |2 377 =k SR EFT|121.365508  |24.909616
A2 |D702000034 |—EE |Frdbh=klE _EEFIERE=FR180-15% |1 243 —kDE SRR EPT[121.351449  124.903643




A2 |D703000003 EERE |#rdbih=IRk& Z R EEREE3525% 2933 =k BZIKEHPT[121.412172  |24.92848
A2 |D703000004 ZAEE |Fribmh=RERIEE N FE3ER1245% 156 —kDE BZIKEPT[121.399477  |24.942113
A2 |D703000005 ZIEE |#rdbih=R&ZIEE N FEE3R172E225% 190 =k E 2K EFT|121.402916 |24.943129
A2 |D703000008 ZERE |#ribmh = IRE ZEREZREE41245% 1054 |=kD = BZEIKEPT[121.414963  |24.927348
A2 |D703000009 ZERE |#rdbih= k& =R EEREE2515% 327 — kD5 2K HFT|121.409433  [24.932032
A2 |D703000010 ZERE |#ribmh = IklE R R EZREE42445% 228 —kDE fBZIKHPT[121.410078 |24.930157
A2 |D703000011 EERE |#rdbih=IR& ZEREEREE2665% 1638 |[=IkD S 2K FT|121.409066 |24.930998
A2 |D703000012 ZAEE |Fribmh=IRERIEE N FHE3ER1185% 597 —kDE BZIKEPT[121.39823 [24.941483
At |D703000013 EERE |#rdbh=IR&ZREEREELS75% 1184 |[=IkD S 2k FT|121.403204  |24.934091
A2 |D703000014 ZmE |Frdbm = kE X B 150 S5 _FR1835% 673 —kDE BZEIKEPT[121.39448  |24.936388
A |D704000004 |mEE |#rdbih=REREEmEE1058235% 41 =k E FYABIKEFT|121.418398  |24.932627
A2 |D704000006 |mifEE |Hribmh=REMEEMEE105E 175 35 —kDE AR EPT[121.41847  |24.931564
A2 |D704000013 |mfEE |#Frdbh=IR&mEEmEEE3135% 193 =k E PR AR E P [121.429404  |24.923675
A2 |D704000014 |miEE |Frdbmh = IRE e E i 1055655% 447 —kDE FRARREPT[121.418999  |24.930673
A2 |D706000001 |AEE |Fith=-IRe AREREKE]L 558 151 =k E hEIRLFT|121.377205 |24.871367
~8  |D707000001 |#EAE |Fith=IREEREHEAT65R 811 —kDE HEAIKEF|121.4081 24.87216
A |D707000002 |HEAE |#ibh=IREIEHE795% 1990 [=ZIkD S IEAIKEFT|121.359632  |24.858708
A2 |D708000006 |FEE |FithERE P EERE SR 1800 [=kD S B EEPT|121.353189 [24.9539




A2 |D708000007 |FEE |#FribmhERE PEEMFE239% 856 =k B EEFT[121.353006 |24.955382
A2 |D708000008 |FEE |FitmEREmEEPIE—K127E35% 11 —kDE B EEPT|121.352872  |24.95357
A2 |D708000009 |FEE |FithEREmEEPLEI38ESHKL 125 =k E B EEFT[121.352044 |24.961526
A2 |D708000010 |FEE |FibhEREAEEFIEE1945%9 160 —kDE B EEPT|121.347512 |24.957114
A |D708000011 |FEE |FithEREmEERLE1I66E65%12 10 =k E BN EEFT[121.348722 |24.957528
A1 |D708000012 |FEE |FibhEREAEEFLIEE14258 45 —kDE ERDEPT|121.349949 |24.957128
At |D708000014 |FEE |FibhEREAEEPLLEE2885E 33 =k E B EEFT[121.343864 |24.957083
A2 |D708000015 |FEE |FitmEREmEEPIE—KI27E1HR 290 —kDE B EEPT|121.352917 |24.95338
A2 |D708000016 |FAEE |#ithEREmEEPIE—RE1155% 464 =k B EFT[121.352101  |24.95554
A2 |D708000017 |#EE |[FithEREAEEFIE—HEI6515% 77 —kDE B BEPM|121.353127 |24.953322
A+ |D708000021 |mEE |fithEREmEEEEH1158145% 134 =k E B D EEFT|121.3513 24.954137
A2 |D708000022 |mEE |MithERErmEEEHERT12758 327 —kDE B EPT|121.350762 |24.953864
A2 |D708000023 |mEE |HithEREmEERERE1355% 727 =k E B EEFT[121.351463 |24.953867
A2 |D708000024 |mEE |MithERErmEE2ERE1385% 661 —kDE B EEPT|121.351163  |24.954089
At |D708000025 |mEE |HithEREmEERLEI2158 925 =k E BRDEEFT[121.349961 |24.956914
A2 |D708000026 |mElE |FithERErmEEHER115E155% 266 —kDE B EPT|121.350966 |24.954454
A2 |D708000027 |mEE |#ithEREmEEEHLR 95 =k BN EEFT[121.351792 |24.954772
A2 |D708000030 |ZEE |fithEREEZEEFLIEE31158 24 —kDE BERDEPM|121.344162 |24.956863




A2 |D708000031 |EEE |#ribhEREEEESAREE705% 27 =k BN EEFT[121.375177  |24.928952
A2 |D708000032 |EZEE |FithEREEEESCARET785% 168 —kDE B EEPT|121.375336  |24.929031
A |D708000033 |EIEE |#itmhEREEEE K LIHE1085% 104 =k E B EEFT[121.344826 |24.95041
A2 |D708000035 |EIEBE |FitmEREREE K IHE1065% 149 —kDE B EEPT|121.345764 |24.951181
A2 |D708000036 |EIEE |#ritmhEREEEE K LIHE1085% 296 =k E B EEFT[121.344826 |24.95041
A1 |D708000037 |RIEE |FithEREREESRE6S55E] 545 —kDE BERDEPT|121.34738  |24.95232
A2 |D708000044 |’XxEE |#ribhERE XS EREFE4665% 2261 |=IkD S B EFT|[121.341396 |24.951161
A2 |D708000045 xEE |FitmEREKEEEHE19235% 422 —kDE B DEPT|121.338356  |24.957388
A2 |D708000046 |XxEE |#ithEREKEEEE129E 141658 1002 =k B DEFT[121.337043  |24.954508
A2 |D708000047 |’xEE |FithEREKEEEMELI29E105% 1221 |=Ik9 B B EEPT|121.337728  |24.954147
A2 |D708000049 ’XxEE |#rithEREXEEXKEFH36IE] 87 =k E B EEFT|[121.342658 |24.950088
A2 |D708000051 XxEE |HFitmhEREKEEEMEIZE12145R 495 —kDE B EEPT[121.342759 124.9501

A2 |D708000052 |XxEE |#ritmhEREKxKEEEEE345% 15 =k E BN EEFT[121.342378 |24.952671
A2 |D708000053 |XEE |HFribhEREXKSEXKSH399% 77 —kDE B EPT|121.335701  |24.95727
At |D708000054 XEE |#FribhEREKSEEEE296E475% 240 =k E BN EFT[121.335727 |24.961508
A2 |D708000055 |’KEE |HFribhEREKSEEME296E575% 177 —kDE ERDEPT121.336001 |24.961348
A2 |D708000056 |dEEE |#ritmhEREILEE PIE—#E2265% 289 =k B D EFT|[121.353917 |24.956938
A2 |D708000060 |ZEE |FithEREEHESRE1I0058 1288 |=kD = BN EPT|121.344728 |24.95327




A2 |D708000061 |EEE |#ribhEREEEHEmMHE43658 1 625 =k BN ELFT[121.345027 |24.954382
A2 |D708000062 |EEE |FithEREEEE R 329865 55% |1 360 —kDE B EEPT|121.343747  |24.956352
A2 |D708000063 |EEE |#ithEREEEESRE1005E 1 1063 =k E B EERAT|121.344728 |24.95327
A2 |D708000064 |EHEE |fithEREEHEBSRERES7958 1 136 —kDE B EEPT[121.344286  |24.954945
A2 |D708000065 |EEE |fithEREEEEERE285% 1 417 =k E B EEAT|121.344242 |24.955242
A2 |D708000066 |EEE |FithEREEZEESRELIINR 1 661 —kDE B EEPT|121.344429 |24.955082
A2 |D708000067 |EEE |#ithEREEBEEBEREH49595% 1 445 =k E BN EEFT[121.348044 |24.951876
At |D708000068 [ZEE |#ritmhE &2 EEERT35% 1 670 —kDE B DEPT|121.343037  |24.95446
A2 |D708000069 |EEE |#ritmhEREEEEHERE6SE 1 361 =k BRDEFT[121.34298  |24.954795
A2 |D708000070 |Z2EE |#rdbmEdRE 2= E5cAE#E 20058 1 397 —kDE BERDEERT[121.3432 24.955822
miIEmEREZREFIRK329822F
At  |[D708000071 [ZEE |15175% 1 352 — kD5 B HEEAT|121.344511  |24.956232
At |D708000072 |[ZEE |#itheEReEEEFEGLNR 1 2488 —kDE B EEPT|121.343519  |24.956778
A |D708000073 |EEE |#ithEREEEESEEH655% 1 793 =k E BRDEFT|[121.336722 |24.953713
A2 |D708000074 |EEE |fithEREEHEEER735E] 1 181 —kDE BN EPT|121.345171  |24.954432
A |D708000075 |EEE |#ithEREREEESRE2R 1 53 =k E BRDEFT[121.34658  |24.954965
A2 |D708000076 |EEE |FithEREEEESRE2R 1 368 —kDE B EPM|121.34658  |24.954965
A |D708000077 |EEE |#ithEREREESRE2R 1 406 =k BRDEFT[121.34658  |24.954965
A2 |D708000078 |EZEE |FithEREEZEESER35R 1 60 —kDE B EEPT|121.34395  |24.954323




A2 |D708000079 XxEE |#ribmhE & xS EKABE625% 1 503 =k B EEFT[121.340655 |24.955929
A2 |D708000083 |xEE |FitmEREKEEEHES85E1L5 1 430 —kDE B EEPT|121.329557  |24.969565
A2 |D708000086 |XxEE |#itmhERE KEEEKE67EL8H 1 313 =k E BN EFT|[121.340774 |24.952181
A2 |D708000087 |’XkEE |#ribmhEREKEEEMEE182E325% 1 1178  |=IkD = B EEPT|121.337634  |24.956315
miEmEREXEEERE 1825967630
At  |D708000097 [’XxEE |5k 1 1118 |[=IkD S BERDELPT|121.34 24.956897
A2 |D708000098 |ZEE |FribhEREEEHESCHRE1675% 1 270 —kDE BN EPT|121.343794 |24.955959
A2 |D708000099 |EEE |#ithEREEEEELE45E 1 1440 |[=ZIRkD S B EEFT[121.34353  |24.954344
A2 |D708000100 |EZEE |FithEREEEESRE11R 1 2231 |=KD B BN EPT|121.344499 |24.955084
At |D708000101 XkEE |#ribhERE XEEEMEEL315E 2 2093 =k B EEFT[121.338093  |24.954579
A2 |D708000102 |mEE |FithERErmEER2E 14958 1 164 —kDE B EEPT[121.350726  |24.953587
At |D708000103 |FEE |HibhEREAEEICEES105% 1 212 =k E B DEFT|[121.351749 |24.956217
A2 |D708000104 |FEE |[FitmEREAEEFILEI38ELNR 1 75 —kDE B EEPT|121.349913  |24.95737
A2 |D708000105 |mEE |HithEREmEERERE1565% 1 82 =k E BN EFT[121.350625 |24.953779
A2 |D708000106 |ZEE |FribmhEfREEEHEScAEE2185% 1 1901  [=kD = B EPT|121.343069 |24.956163
A |D708000107 |dEEE |#ritmhEREILEE PIE—#E2815% 1 246 =k E B EFT|[121.35281  |24.952996
A2 |D708000108 |EIEE |FithERERBEESREILNR 2 1030  [=kD = BERDEPT|121.34752  |24.951501
A2 |D708000109 |mEE |fithEREmEEmmE3386F1% |1 308 =k BN ELFT[121.348938 |24.954473
A1E  |D708000110 |’XxEE |FribhEREKEEKER23258 1 275 —kDE B EPF|121.338919  |24.950572




At |D708000111 |mEE |FithEREmEEEEEH139% 604 — kD5 B EEFT[121.351892 |24.952684
A2 |D708000112 XEE |FitmEREXKSERE _H25R 60 —kDE B EEPT|121.332913  |24.958766
At |D708000113 |d6EE |FithEREILEECERLIR 470 =k E B EEFT[121.35365  |24.956858
A2 |D708000114 |62 |[FithEREILEECERS55R 1327 —kDE B EEPT[121.354363  |24.955933
A |D708000115 |dEEE |FrithEREibEEREE429% 13978 |=IRkD S B EEFT[121.35588  |24.955995
At |D708000116 [dEEE |#itmhEREILEEZBFE605% 676 —kDE B EEPM|121.355231  |24.955442
At |D708000117 |mEE |HithEREmEERERE11558 861 — kD5 B EFT|[121.351983 |24.953908
A2 |D708000118 |dEEE |FitmEREILEEMINE6E25R 2384 —kDE B DEPT|121.358632 |24.957337
A |D708000119 |dEEE |#FrithEREIbEE PIE—F304581 2629 — kD5 B DEFT|[121.356079 |24.956901
At |D708000120 [ |#itmhmEREILEETEEEIINR 347 —kDE B EEPT[121.354859  |24.956627
A2 |D708000121 |d6EE |#FribmhEREILEETEEEISE 764 — kD5 B HEEAT|121.354116 |24.956411
mitheR&IEEEFIE—3458371
A#  |D708000122 |[dbEE [5F 224 —kDE B EEPT|121.356923  |24.957411
A2 |D708000123 |EIEE |#itmhEREEEE X LIHEE1065% 1845 — kD5 BN EFT|[121.345764 |24.951181
A2 |D708000124 |62 |[FitmEREILEECEREI1R 309 —kDE B EPT|121.353811 |24.956428
it EREEHEF 329826710
A |D708000125 |ZEE 5% 135 — kD5 B DEEFT[121.345052  |24.956215
A2 |D708000126 |EEE |FibhEREEREESCHREE12658 2504 —kDE B EPT|121.345451  |24.955916
A2 |D708000127 |d6EE |#ribmhEREILEETEEEI759510 156 — kD5 B EEFT[121.354616 |24.956597
mithEReZEEFKE32952655 12
A#  |D708000128 |ZEE 5% 400 —kDE B EPT|121.344988 |24.956066




A1 |D708000129 |EEE |#ithEREREEESERK25% 1 1734 — kD5 B EEAT|121.344958 |24.955689
A2 |D708000130 |mEE |FithERErmEEHEH1158225% 1 154 —kDE B EEPT|121.351248 |24.95448
A |D708000131 |EEE |#ithEREEEEREEE229% 3 886 — kD5 BRDEEFT[121.34945  |24.956118
A2 |D708000132 |’XxEE |HFrithEREXKEEREE4055185% 1 669 —kDE BERDEEPT|121.33664 |24.951613
A2 |D708000133 [dEEE |#ritmhEREILEEITHEE65-715% 1 429 =k E B EEAT|121.354237 |24.956446
A2 |D708000134 |ZEE |FithEREEZEE RS8R 3 2377 —kDE B EPM|121.349281  |24.956585
A |D708000135 |EEE |fithEREEEEPE—EMEESLR |1 1620 — kD5 B EFT[121.369094 |24.97018
A2 |D708000136 |EIEBE |FritmE & R EE K LIHESI5R 1 211 —kDE BN EPT|121.347497 |24.950943
At |D708000137 XkEE |#ribmhE & K EEEYEES57959 2 246 — kD5 B EFT[121.340068 |24.957151
it EREXKESEISHERKRI05EIZ
A8 |D708000138 |KEE 5% 1 758 —kDE B EEPT|121.336867 |24.951448
mitheR&RIEEIZH# R IIHE 23953
At  |D708000139 |EIEE |5k 1 121 — kD5 B EEAT|121.344464 |24.950257
A2 |D708000140 |ZEE |FribmhEfREE2EE3MF 11182495305k |1 291 —kDE B EEPT|121.347488 |24.9566
mithER & XEEISH ZEME4055 11
At  |D708000141 [’xEE |5& 1 415 — kD5 BN EEFT[121.336377 |24.951837
A2 |D708000142 xEE |FitmhEREXKEE105HEHEI35% 1 978 —kDE BEIOKEPT121.33926  |24.95363
A2 |D709000001 |AHE |#FribmEREANETEEH25R 1 436 =k E LR EFT|121.33659  [24.978834
At |D709000002 |3 |FrdbhEdile i E iR 29%4 2 1012 —kDE AILDKEPT[121.34162  |24.95691
A2 |D709000003 |FHE |#rdbmE & RN E R 3658 1 262 =k ALK FT|121.355661  [24.971442
At |D709000006 | |#rdbmE k& Gt B opisi 57 255% 1 427 —kDE HILDKEPT[121.348098  124.972981




A2 |D709000007 |4 |#rdbmE skl P E RS 765% 2 540 — kD5 LR FT|121.341595  |24.957788
At |D709000008 |HH#AEE |#rdbE dRE G B ohisi 7 555% 2 346 —kDE HILDREPT[121.349459  124.973531
A2 |D70A000001 |Bl#E |#rdbhE & B EEskrE3235% 1 9 =k E BUSIKLFT|121.333877  |24.961629
A2 |D70A000002 |EMEE |FritmhE & EEEEkE28829815%18 |1 2336 —kDE BINSIKEPF|121.324823  |24.971989
A2 |D70A000003 |BIGE |#FritmhEfEEEEEtkrEe58%1723582|1 596 =k E BUISKEHFT[121.329597  |24.969595
A2 |D70A000004 |EINGE |#ribmE & BISE K F1E 24358 1 311 —kDE BSIKEPF|121.336452  |24.971012
Wit e ERFEERE3655 /67 /6

At  |D70A000005 |BE#E |5%1 1 121 =k E BlUISKEHFPT|[121.331186 |24.963

A2 |D70A000006 |El#E |FribmhE & Bl 2B 3658555% 1 177 —kDE BISIKEPT|[121.33314  |24.962806
A2 |D70A000007 |BI#E |#rdbmhE & Bl 2 EskrE 55558 1 619 =k B EPT(121.330147  |24.967979
A2 |D70A000008 |EI#E |#ribhE & B EEMkEE6015% 1 260 —kDE BSIKEPF|121.329187  |24.968937
At  |D70A000009 |EINGE ¥ﬁil:FE%?AEHH%EK*H&HZOE)’% 1 322 — kD5 BUSIKLFT|121.335053  [24.96914

IS BEME4305925716

A#  |D70A000010 |BIRGE |[5% 2 188 —kDE BSIKEPT|121.334143  |24.966877
A2 |D70A000011 |EINGE |#ribmE k& B E X ME 1557 1 781 — kD5 BUSIKLFT|121.334588  [24.969712
A2 |D70A000013 |2 |FribmhE & B+ EEEE3658555% 2 1266 —kDE BSIKEPT|121.33314  |24.962806
A2 |D70A000014 |BEIGE |#ribmE k& B E X ME 7558 3 441 — kD5 BUSIKLFT|121.333126  [24.968205
At |D70A000015 |BEIRGE |#ritmhEfR&EEISE B A E6-65% 1 2492 —kDE BUSIKEPF|121.331463  |24.971407
A2 |D70A000016 |BIE2E |#rithER&EERERE2805% 1 697 =k BUSIKLFr|121.328955 [24.973082
A2 |D70A000017 |EIGE |FrithEREEISEREREE16058 1 982 —kDE BINSIKEPF|121.333374  |24.971575




A2 |D70A000018 |BEIGE |#ritmhE e BGE ESH2655%2 3 2757 =k BUISKEHPT({121.334101  |24.969489
A2 |D70A000019 |EIRE |FritmEREESER A 7R 3 523 —kDE BINSIKEPF|121.330202  |24.972362
A2 |D70A000020 |EIGE |#ribmhE & EEE R ISEE5095% 3 813 =k E B EPT(121.331749 |24.972337
A2 |D70A000021 |EIGE |FribmE k& BSE K ME915% 3 315 —kDE BISIKEPF|121.333418  |24.968419
At |D70A000022 |EEE |FrithEREEREEREEL775% 1 2113 =k E BSIKLFT|121.330709  [24.975474
At  |D70A000023 |EINGE |#rithEd&E B IS EERE2815% 1 492 —kDE BINSIKEPF|121.334622  |24.970824
A2 |D70A000024 |BIGE |#ribhER&EEIEERE 28258 1 592 — kD5 BUSIK L FT{121.3355 24.972154
A1E  |D70A000025 |EMEE |FrithEREEEEREE21558 3 1416 —kDE BINSIKEPF|121.331452  |24.975845
A2 |D70A000026 |EINGE |#ribmhER&EEEEXFE1615% 3 1561 =k BSIKLFT|121.335015  [24.969714
At  |D70A000027 |BEIRGE |#ithEfEBISEEREI0LNR 3 416 —kDE BISIKEPF|121.333494  124.969806
A2 |D70A000028 |EINGE |#ribmhE & BN E2958 Bl 5655% 4 1344 =k E BUSKEHPT(121.33175  |24.973031
At |D70A000029 |EIGE |FritmhEfR & ENSE2955E A F52825% 3 1063 —kDE BINSIKEPF|121.333133  |24.971736
A+ |D70A000030 |BEINGE |#ritmhEREEEE 1858 = IEE1585% 1 699 =k E BUSIKLFT|121.333928  |24.970358
At  |D70A000031 |[EIRGE |#rdtmhER&EBISEL7 5B 82058 1 1043 —kDE BISIKEPF|121.333019  |24.968117
A+ |D70A000033 |EIGE |#ritmhE & EEE2458EE A E2505% 1 1155 =k E BUSIKLFT|121.33337  [24.97158
A2 |D70B000005 |REE |FithEREREEERE2495% 2 672 —kDE —HKEPT[121.353552  [24.95309
it h B EFEIE o Fr 15
At  |D70B000007 [MIEE |2 1 136 =k —HBRHEPT|{121.351051 |24.950589
A1E  |D70B000009 |RIE |#ribmERERILIERLEI73ELLLR |1 813 —kDE —HBIKEPT[121.344974  124.947338




A2 |D70B000010 |RIWE |#rdbmERERIIERILIEEI3I7TE25F1R |1 22 =k —HBRHPT[121.347352  |24.947584
A2 |D70B000011 |KRIWE |FribmE &R IIERILIEI408125F25% |1 1065 —kDE —HBIREPT[121.346195 |24.949534
A2 |D70B000012 |RIWE |#ribmERERILIERILEIS6ELNR 1 2731 =k E _BIKLFT|121.345946 [24.948903
A2 |D70B000013 |KRIWE |#rdbmhEdRE R ILIERILIEEI035] 1 895 —kDE —HBIKEPT[121.348204 |24.948984
A+ |D70B000016 |mIEE |#rithEREmIisE=Er29815-165% |1 420 =k E —#BIKiiFr|121.355108 |24.940087
A2 |D70B000019 |KRIWE |FribmhE &R IIEFIE 155581 1 410 —kDE _HBIREPT[121.34547  |24.949772
At |D70B000022 |RIIE |#ribmhEREKRILE PIE_FEI5R 1 383 =k E —#BIKiFT|121.350495 |24.951049
A2 |D70B000023 |RIWE |FribmERERILIERILEIISEGH 1 231 —kDE —HBIKEPT[121.349858 |24.949321
A2 |D70B000024 |RIWE |#FribmERERILERILIEE23725% 1 156 =k —#BIKFT|121.342383  [24.945903
A2 |D70B000025 |KRIWE |#rdbmEdRE K LB B F1E71045% 1 877 —kDE —HBIKEPT[121.340176  |24.940461
A2 |D70B000026 |RIE |#ribmE & KL EEPE625% 1 763 =k E _#BIKLFT|121.341993  [24.94308
A2 |D70B000027 |RIE |FribmE &R ILIE K IIE28035% 1 1097 —kDE —HBIREPT[121.342363  |24.947282
A2 |D70B000028 |—HRE |#ribmhEdile _PE _FHEE55R 1 245 =k E —_#BIKiFT|121.338454  |24.940619
At |D70B000029 |2 |#itmERE _HBESEAE105% 2 539 —kDE —HBIKEPT[121.336134  |24.940486
A+ |D70B000030 |—HBE |#ithERE _FE _FrE215% 2 892 =k E —HBIRHEPT[121.340413  |24.936258
At |D70B000031 |2 |#itmERE_HBESEMEEHL1LMR 1 492 —kDE —HKEPT[121.337507  |24.939353
A2 |D70B000032 |RIWE |#FritmEBERERLESEEHI1ELR 1 74 =k —1BRHEPT[121.342914  |24.945406
A2 |D70B000033 |REE |MithEREREEERE2475% 2 163 —kDE —HBIKEPT[121.353709 |24.953181




A2 |D70B000034 |“HFE |#ribhERE _FHE _FE415%2 1 581 =k —HBKHEPT[121.340214  |24.937432
A2 |D70B000037 |RIWE |FribmE &R LB FHET7R 1 636 —kDE _HBIREPT[121.342492  |24.94313
At |D70B000038 |—#BE |FithERE _RBESHRE6R 1 284 =k E —_#BIKFT|[121.340545 |24.941476
At |D70B000039 |2 |#itmERE _HBEPIE—FE1545% 1 1384 —kDE —HKHEPT[121.335003  |24.939285
A2 |D70B000040 |RIWE |FritmERERLIESHRH3IE18E9 |1 973 =k E —1BIRHEPT[121.340207 |24.942266
At  |D70B000041 |2 |#itmERE _BELAEEH1LNR 1 193 —kDE _HBIKEPT[121.337837 [24.93976
At |D70B000042 |—fE |#ithERE _FEEPEH1785% 2 3107 =k E _#BIkFT|121.33825  [24.939353
At |D70B000043 |2 |#itheEfRe _BEBEFE1995% 2 1863 —kDE —HBIKEPT[121.338325 |24.939064
A2 |D70B000044 |miEE |#rithE R EmIsEEEE 2858 2 1457 =k —_#BIKiiFr|121.350356  |24.952649
A2 |D70B000045 |KRIWE |FribmE k& K LB FE615% 2 1852 —kDE —HBIREPT[121.342553  |24.941793
A2 |D70B000046 |—BE |#itmERE _FEPIE=F3358385% |1 125 =k E —HBKHPT[121.329343  |24.933362
A2 |D70B000047 |RWE |#ribhEIRE R ILIERILIEEII55] 1 825 —kDE —HBIREPT[121.344163  |24.947102
A2 |D70B000048 |—HBE |#ithERE _BESHIAE865E 2 1354 =k E —#BIKFT|121.336035 [24.941985
A2 |D70B000049 | KRB |FribmhERERILIERILEIS6ETSH 1 302 —kDE —HBIKEPT[121.345866 |24.949503
A+ |D70B000050 |—#BE |#itmERE _FEPIE=F15688-55% |1 647 =k E _#BIKHFT|121.333047  [24.940925
A2 |D70B000051 |misE |#ribmhE R EmIsE B 2568225 1 254 —kDE —HBIKEPT[121.352087 |24.947664
it B R ERIERINFEZ408215F]1-1
At  |D70B000052 [RIIE 5% 1 345 =k —HBIRHEPT[121.342299 |24.947509
At  |D70B000053 | R |#itheERe _BEBEFE1575% 3 1263 —kDE —HKEPT[121.339385 [24.93978




A2 |D70B000054 |EREE |#ithEREREEERE2335% 632 — kD5 —#BIKFT|121.353993  [24.953243
A2 |D70B000055 | KRB |HribmE &R ILIERIIE212E165% 735 —kDE —HBIKEPT[121.342954  124.947959
A2 |D70B000056 |—fBE |#itmERE _FE_HBH1IR 485 =k E —HBRHPT[121.337104 |24.939606
At  |D70B000057 |2 |#itmERE _HBESEAEH1165% 428 —kDE —HBIKEPT[121.335897 |24.940989
A2 |D70B000058 |RIWE |#ribmhE @ RIIER L2115 1379 =k E _BIKLFT|121.343866 [24.946445
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